
SAP ABAP table TXI_TVKN {Routes: Transportation Connection Points}

TXI_TVKN

MANDT [CLNT (3)]

BAHNG [CHAR (10)]

ZOLLS [CHAR (6)]

SPFBK [CHAR (2)]

KUNNR [CHAR (10)]

KUNABL [CHAR (25)]

LIFNR [CHAR (10)]

VSTEL [CHAR (4)]

LSTEL [CHAR (2)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

LGNUM [CHAR (3)]

TOR [CHAR (3)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 TXI_TVKN-KUNNR = KNA1-KUNNR 
0..N

{0,1}

KNVA

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

ABLAD [CHAR (25)]

 TXI_TVKN-KUNABL = KNVA-ABLAD 
0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 TXI_TVKN-BAHNG = LFA1-LIFNR 

0..N

{0,1}

 TXI_TVKN-LIFNR = LFA1-LIFNR 0..N

{0,1}

T000

MANDT [CLNT (3)] TXI_TVKN-MANDT = T000-MANDT 0..N

1

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]
 TXI_TVKN-LGORT = T001L-LGORT 0..N

{0,1} T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 TXI_TVKN-WERKS = T001W-WERKS 
0..N{0,1}

T300

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

 TXI_TVKN-LGNUM = T300-LGNUM 

0..N

0..N

T30B

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LGTOR [CHAR (3)]

 TXI_TVKN-TOR = T30B-LGTOR 

0..N

0..N

T615

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZOLLA [CHAR (6)]

 TXI_TVKN-ZOLLS = T615-ZOLLA 

0..N

0..N

TFACD

IDENT [CHAR (2)]

 TXI_TVKN-SPFBK = TFACD-IDENT 

0..N

{0,1}

TVLA

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

LSTEL [CHAR (2)]

 TXI_TVKN-LSTEL = TVLA-LSTEL 

0..N

{0,1}

TVST

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

 TXI_TVKN-VSTEL = TVST-VSTEL 

0..N

{0,1}


